
Q.1 Which of the following numbers will replace the question marks (?) in the given
series?
1, 9, 25, 49, ?, ?, 169, 225, 289

Ans 1. 64, 81

2. 100, 121

3. 81, 121

4. 81, 100

Question ID : 26433069051
Status : Answered

Chosen Option : 3

Q.2 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
GTNS, OPVA, WLDI, ? , MDTY

Ans 1. EHLQ

2. JUFV

3. JKDF

4. EKWS

Question ID : 26433074742
Status : Answered

Chosen Option : 1

Q.3 ‘A @ B’ means ‘A is the wife of B’
‘A & B’ means ‘A is the father of B’
‘A # B’ means ‘A is the sister of B’
Which of the following options means 'P is the mother of L'?

Ans 1. S @ L & R # P

2. P @ R & S # L

3. P @ L & S # R

4. S @ P # R & L

Question ID : 26433069657
Status : Not Answered

Chosen Option : --
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Q.4

Ans
1. 

2. 

3. 

4. 

Question ID : 26433085558
Status : Answered

Chosen Option : 4

Q.5 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)
Arc : Circle :: Cockpit : ?

Ans 1. Airplane

2. Wheel

3. Car

4. Bike

Question ID : 26433067367
Status : Answered

Chosen Option : 1

Q.6 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1. Chair
2. Charm
3. Chauffer
4. Chain
5. Change

Ans 1. 4,1,5,2,3

2. 4,1,5,3,2

3. 4,5,1,3,2

4. 4,1,2,5,3

Question ID : 26433069273
Status : Answered

Chosen Option : 1
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Q.7 Which of the following numbers will replace the question mark (?) in the given series?
81, 88, 102, ?, 151, 186

Ans 1. 116

2. 109

3. 123

4. 137

Question ID : 26433069386
Status : Answered

Chosen Option : 3

Q.8 Which of the following letter-clusters will replace the question mark (?) and complete
the following letter-cluster series?
UH, SD, OZ, MV, ?

Ans 1. IQ

2. IR

3. IS

4. HR

Question ID : 26433067287
Status : Answered

Chosen Option : 2

Q.9 Which two signs should be interchanged to make the below equation mathematically
correct?
12 × 108 – 36 ÷ 6 + 18 = 48

Ans 1. – and +

2. ÷ and –

3. + and ×

4. + and ÷

Question ID : 264330117514
Status : Not Answered

Chosen Option : --
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Q.10

Ans

1. 

2. 

3. 

4. 

Question ID : 26433076624
Status : Not Answered

Chosen Option : --

Q.11 In a certain code language, ‘PROVED’ is written as ‘65’and ‘REMOVER’ is written as
‘81’.How will ‘DEVOUR’ be written in that language?

Ans 1. 85

2. 80

3. 70

4. 75

Question ID : 26433069474
Status : Not Answered

Chosen Option : --
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Q.12 Three statements are given followed by three conclusions numbered 1, 2 and 3.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.
Statements:
1. All cottons are silks.
2. All silks are wools.
3. All wools are jutes.
Conclusions:
1. Some jutes are silks.
2. Some wools are cottons.
3. Some jutes are cottons.

Ans 1. Only conclusion 1 follows

2. Only conclusions 2 and 3 follow

3. All conclusions 1, 2 and 3 follow

4. Only conclusions 1 and 3 follow

Question ID : 26433087134
Status : Answered

Chosen Option : 3

Q.13 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
2 : 1 :: 54 : 3 :: 16 : ?

Ans 1. 4

2. 2

3. 5

4. 3

Question ID : 26433069414
Status : Not Answered

Chosen Option : --

Q.14 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must NOT be related to each other based on the number of letters/number
of consonants/vowels in the word)
Engineer : build :: Physician : ________

Ans 1. Destroy

2. Cure

3. Make

4. build

Question ID : 26433079401
Status : Answered

Chosen Option : 2
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Q.15 Five people, K, L, M, N, and O are sitting in a straight row, facing north. L is sitting on
the immediate left of N. M is sitting on the immediate left of L. N is sitting on the
immediate left of O. K is sitting on the extreme right end of the row. Who is sitting in
the exact middle of the row?

Ans 1. L

2. N

3. M

4. O

Question ID : 26433069155
Status : Answered

Chosen Option : 2

Q.16

Ans 1. R

2. O

3. M

4. N

Question ID : 26433085514
Status : Answered

Chosen Option : 1

Q.17 In a certain language, DANGER is coded as REGNAD, DETAIL is coded as LIATED,
how will DOCTOR be coded in the same language?

Ans 1. CODTOR

2. ROTCOD

3. EPDUPS

4. CODROT

Question ID : 26433074592
Status : Answered

Chosen Option : 2

Q.18 If ‘+’ means ‘÷’, ‘÷’ means ‘-’, ‘-’ means ‘×’, and ‘×‘ means ‘+’. Which of the following will
be the value of the expression?
63 ÷ 84 + 7 - 6 × 48

Ans 1. 33

2. 39

3. 46

4. 49

Question ID : 264330114185
Status : Answered

Chosen Option : 2
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Q.19

Ans

1. 

2. 

3. 

4. 

Question ID : 26433069358
Status : Answered

Chosen Option : 2

Q.20 Six students are sitting around a circular table facing the centre. Rajesh is sitting
second to the right of Ramesh. Ramesh is sitting to the immediate left of Suresh.
Nimesh is sitting second to the right of Jayesh. Paresh is sitting second to the right of
Rajesh. Jayesh is the immediate neighbour of Rajesh and Paresh. Who is sitting
between Ramesh and Paresh?

Ans 1. Rajesh

2. Nimesh 

3. Jayesh 

4. Suresh

Question ID : 26433081773
Status : Not Answered

Chosen Option : --

Section : Part-B-General Knowledge and General awareness
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Q.1 Which among the following metals is the best conductor of heat?
Ans 1. Sodium

2. Silver

3. Iron

4. Gold

Question ID : 264330115152
Status : Answered

Chosen Option : 2

Q.2 Mekapati Vikram Reddy, who became Member of Legislative Assembly from Atmakur
constituency in Andhra Pradesh, in June 2022, belongs to ________ political party.

Ans 1. Bharatiya Janata Party

2. YSR Congress Party

3. Communist Party of India

4. Indian National Congress

Question ID : 264330114904
Status : Not Answered

Chosen Option : --

Q.3 Who among the following became the Chief Minister of Uttarakhand in March 2022?
Ans 1. Bhuwan Chandra Khanduri

2. Pushkar Singh Dhami

3. Trivendra Singh Rawat

4. Tirath Singh Rawat

Question ID : 26433082244
Status : Answered

Chosen Option : 2

Q.4 Who among the following was awarded the Padma Shri for the contributions in
Kathak?

Ans 1. Sarodi Saikia

2. Tankeswar Hazarika Borbayan

3. Jogen Dutta Bayan

4. Sunayana Hazarilal

Question ID : 264330115874
Status : Not Answered

Chosen Option : --
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Q.5 When a household’s income falls below the amount required to sustain basic living
standards (food, shelter, housing), is called ________.

Ans 1. Relative Poverty

2. Generational poverty

3. Absolute Poverty

4. Situational poverty

Question ID : 264330116074
Status : Answered

Chosen Option : 2

Q.6 सुपर मार्कि ट के  संचालन की एक सीमा बताएं ।
Ans 1. सुपर मार्के ट को शुरू करने और चलाने के  लिए बड़ी मात्रा में पूंजी आवश्यक है।

2. एक ग्राहक को एक ही स्थान पर विभिन्न ब्रांडों का सामान मिल सकता है।

3. वे मानक गुणवत्ता वाली वस्तुएं  प्रदान करते हैं।

4. वे सामानों की एक विस्तृत श्रृंखला को संभालते हैं।

Question ID : 264330115548
Status : Not Answered

Chosen Option : --

Q.7 The Prohibition of Child Marriage (Amendment) Bill, 2021 proposes to increase the age
of girl from 18 to______years.

Ans 1. 20

2. 24

3. 21

4. 22

Question ID : 264330116220
Status : Answered

Chosen Option : 3

Q.8 Who was the mascot for the 2020 National Games of India?
Ans 1. Chhaua, the deer.

2. Ammu, the great hornbill.

3. Savaj the Asiatic lion

4. Rubigula, the Flame-Throated Bulbul

Question ID : 264330115953
Status : Not Answered

Chosen Option : --
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Q.9 महामस्तकाभिषेक एक जैन त्यौहार है जो, प्रत्येक ______ वर्षों में एक बार मनाया जाता है।
Ans 1. 8

2. 6

3. 10

4. 12

Question ID : 264330115090
Status : Not Answered

Chosen Option : --

Q.10 Aim of last (twelfth) five year plan was:
Ans 1. Faster, Sustainable, and More Inclusive Growth

2. Double per capita income

3. Clean India

4. Creeping Growth

Question ID : 264330115370
Status : Answered

Chosen Option : 1

Q.11 Which one of the following is the oldest football competition in India?
Ans 1. Durand Cup

2. BC Roy Trophy

3. Santosh Trophy

4. Federation Cup

Question ID : 264330116288
Status : Answered

Chosen Option : 4

Q.12 National Bank for Agriculture and Rural Development(NABARD) aims at providing
credit and other facilities for the promotion and development of _______ industries.

Ans 1. urban

2. rural

3. posh

4. big

Question ID : 264330115301
Status : Answered

Chosen Option : 1
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Q.13 Who breaks down waste into smaller particles?
Ans 1. detritivores

2. carnivores

3. omnivores

4. herbivores

Question ID : 264330115250
Status : Answered

Chosen Option : 1

Q.14 In December 1929, under the presidency of ______, the Lahore Congress
formalised the demand of 'Purna Swaraj'.

Ans 1. Baldev Singh

2. Jagjivan Ram

3. Jawaharlal Nehru

4. Asaf Ali

Question ID : 264330115696
Status : Answered

Chosen Option : 3

Q.15 Under which Article of the Constitution does a citizen have the freedom to practice any
profession or occupation?

Ans 1. Article 22 (b)

2. Article 19 (1) (g)

3. Article 21 (f)

4. Article 20 (c)

Question ID : 26433091448
Status : Answered

Chosen Option : 2

Q.16 Who among the following met the Buddha to get his advice on the proposed attack on
Vajjis?

Ans 1. Yashas

2. Ashoka

3. Radhagupta

4. Vassakara

Question ID : 26433089851
Status : Answered

Chosen Option : 4
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Q.17 Which among the following dance forms is a unique dance form as the performers are
dressed as women and is popular in the parts of Odisha?

Ans 1. Fugdi

2. Theyyam

3. Gotipua

4. Bihu

Question ID : 264330115066
Status : Not Answered

Chosen Option : --

Q.18 The climate of India is described as the ______ type.
Ans 1. monsoon

2. cool

3. dry

4. arid

Question ID : 26433089696
Status : Answered

Chosen Option : 1

Q.19 Major aspect of Green revolution is that, it has made India _____________.
Ans 1. Self-Sufficient

2. Greatest Exporter of Crops

3. Greatest Importer of Crops

4. Largest producer of cash crops

Question ID : 264330116154
Status : Answered

Chosen Option : 1

Q.20 Who has been appointed as the Chairman and Managing Director of the India Trade
Promotion Organization in October 2022?

Ans 1. Vibhu Nayar

2. Rahul Narwekar

3. Noor Rahman Sheikh

4. Pradeep Singh Kharola

Question ID : 264330115004
Status : Not Answered

Chosen Option : --

Section : Part-C-Elementary Mathematics
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Q.1 Find the greatest number that will divide 57, 93 and 191 so as to leave the same
remainder in each case.

Ans 1. 4

2. 2

3. 3

4. 1

Question ID : 26433075089
Status : Answered

Chosen Option : 3

Q.2 If radius of a hemisphere = radius of a cone = height of the cone, then what will be the
ratio of the curved surfaces area of this hemisphere and curved surface area of this
cone?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433076087
Status : Not Answered

Chosen Option : --

Q.3 A dealer announces 8% and 18% discounts on a watch. If the selling price of the watch
is ₹943, then the marked price of the watch is:

Ans 1. 

2. 

3. 

4. 

Question ID : 26433082670
Status : Not Answered

Chosen Option : --

Q.4 A merchant bought 1200 items for ₹1,800 and he sold them at the rate of 1000 for
₹1,600. Calculate gain or loss percentage.

Ans
1. 

2. 

3. 

4. 

Question ID : 26433074278
Status : Not Answered

Chosen Option : --
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Q.5 A dealer sells wheat at 25% profit and uses a weight 5% less than the actual measure.
His gain percentage is:

Ans
1. 

2. 

3. 

4. 

Question ID : 26433076078
Status : Not Answered

Chosen Option : --

Q.6 A sum of ₹9,960 was borrowed at 7.5% per annum compound interest and paid back in
two equal annual instalments. What was the amount of each instalment?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433081588
Status : Not Answered

Chosen Option : --

Q.7 The fourth proportional of the numbers 0.002, 0.04 and 0.0006 is ________.
Ans 1. 0.12 × 10-2

2. 1.2 × 10-3

3. 1.2 × 10-2

4. 12 × 10-2

Question ID : 26433091923
Status : Not Answered

Chosen Option : --

Q.8 P, Q, and R can do a piece of work in 38 days. Q and R can do the work in 76 days.
Find the number of days in which P can complete the same work.

Ans 1. 81 days

2. 76 days

3. 84 days

4. 90 days

Question ID : 264330116904
Status : Answered

Chosen Option : 2
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Q.9 R goes to the post office from home covering a distance of 5 km and 400 metres in half
an hour, and then goes to office covering a distance of 25 km and 750 metres in 90
minutes. What is his average speed from home to office in km/h?

Ans 1. 17.555

2. 15.775

3. 15.755

4. 15.575

Question ID : 26433071259
Status : Not Answered

Chosen Option : --

Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 26433081542
Status : Not Answered

Chosen Option : --

Q.11 If 'x' is divisible by 3 and 2, then 2x3 + 3x2 is divisible by :
Ans 1. 428

2. 214

3. 72

4. 108

Question ID : 26433081700
Status : Not Answered

Chosen Option : --

Q.12 The discount on a toy is 15%. A successive discount of 15% is also offered. What is
the effective discount on the toy

Ans 1. 27.75%

2. 30%

3. 25%

4. 32.75%

Question ID : 26433071256
Status : Answered

Chosen Option : 1
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Q.13

Ans 1. 2500

2. 7500

3. 3750

4. 0

Question ID : 26433081705
Status : Not Answered

Chosen Option : --

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 26433066324
Status : Not Answered

Chosen Option : --

Q.15

Ans 1. 20%

2. 26%

3. 22%

4. 25%

Question ID : 26433075116
Status : Not Answered

Chosen Option : --

Q.16 A board 100 cm long is trimmed to 86 cm. What percentage has been removed?
Ans 1. 32 percent

2. 28 percent

3. 14 percent

4. 20 percent

Question ID : 264330116824
Status : Not Answered

Chosen Option : --
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Q.17 Find the average of the numbers 517, 139, 195, 176 and 192.
Ans 1. 243.8

2. 726.3

3. 515.4

4. 315.4

Question ID : 26433079994
Status : Answered

Chosen Option : 4

Q.18 Rohan and Sohan can complete a piece of work in 10 days and 12 days, respectively. If
they work on alternate days, starting with Sohan, in how many days will the whole
work be completed?

Ans 1. 12

2. 13

3. 11

4. 10

Question ID : 26433075570
Status : Answered

Chosen Option : 3

Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 26433075816
Status : Not Answered

Chosen Option : --

Q.20 The price of a jacket and handbag are in the ratio of 3 : 2. If a jacket costs ₹600 more
than the handbag, then the price of the handbag is:

Ans 1. 

2. 

3. 

4. 

Question ID : 26433082085
Status : Answered

Chosen Option : 2
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Q.1 Select the INCORRECTLY spelt word.
Ans 1. Subvert

2. Rebuke

3. Reckon

4. Subservent 

Question ID : 26433073655
Status : Not Answered

Chosen Option : --

Q.2 Select the most appropriate ANTONYM of the word given in the brackets to fill in the
blank.

We ____________ (agree) to talk to terrorists.
Ans 1. grant 

2. admit 

3. allow 

4. refuse  

Question ID : 26433088853
Status : Not Answered

Chosen Option : --

Q.3 Select the most appropriate ANTONYM of the given word.

Dense
Ans 1. Compact

2. Secret  

3. Sparse  

4. Generic  

Question ID : 26433071972
Status : Not Answered

Chosen Option : --

Q.4 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

Inkompetent employees of our company need to be sacked.
Ans 1. Imcampetent

2. Incompetent

3. Imcompetent

4. Incompitent

Question ID : 26433073553
Status : Not Answered

Chosen Option : --

Section : Part-D-English
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Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Not only composition, but also the wrong choice of Sridhar as the singer destroyed
the sweetness on the song.

Ans 1. destroyed the sweetness of the song

2. destroyed the sweetness in the song

3. destroyed the sweetness by the song

4. destroyed the sweetness around the song

Question ID : 264330100987
Status : Not Answered

Chosen Option : --

Q.6 Select the most appropriate ANTONYM of the given word.
Perfume

Ans 1. Extraordinary

2. Redolence

3. Fragrance

4. Stench

Question ID : 26433086346
Status : Not Answered

Chosen Option : --

Q.7 Select the word that is similar in meaning to the underlined word.

My boss maintained a very parochial view of the world.
Ans 1. Patriarchal

2. Narrow

3. Harmonious

4. Laughing

Question ID : 26433087945
Status : Not Answered

Chosen Option : --

Q.8 Select the most appropriate synonym of the given word.

Ample
Ans 1. Enthusiastic

2. Abundant

3. Affectionate

4. Insufficient

Question ID : 26433073432
Status : Not Answered

Chosen Option : --
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Q.9 Select the most appropriate ANTONYM of the given word.

Prosperity
Ans 1. Money

2. Gradual

3. Wealth

4. Failure

Question ID : 26433088324
Status : Not Answered

Chosen Option : --

Q.10 Select the most appropriate meaning of the given idiom.

To go through fire and water
Ans 1. To punish

2. To tolerate

3. To face many challenges

4. To do something easy

Question ID : 26433073710
Status : Not Answered

Chosen Option : --

Q.11 Select the most appropriate meaning of the given idiom.

Taste of your own medicine
Ans 1. Have the same bad treatment that you have given to others

2. Try to manage something which went wrong

3. Extremely pleased and excited about something

4. Try everything possible 

Question ID : 26433072686
Status : Not Answered

Chosen Option : --

Q.12 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Mrs. Meera and family / received his letter / a week ago.
Ans 1. a week ago

2. No error

3. received his letter

4. Mrs. Meera and family

Question ID : 264330108878
Status : Not Answered

Chosen Option : --
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Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Who penned this book on the history of India’s partition?
Ans 1. write 

2. publicise 

3. pen 

4. No substitution required

Question ID : 26433088562
Status : Not Answered

Chosen Option : --

Q.14 Select the most appropriate synonym of the underlined word in the following
sentence.

He went to the tomb of his father to pay his tribute.
Ans 1. Grave 

2. Mortuary 

3. Funeral

4. Ritual 

Question ID : 26433072351
Status : Not Answered

Chosen Option : --

Q.15 Select the most appropriate option to fill in the blank.

The Board of Doctors declared that the patient might take time to _____________.
Ans 1. come round  

2. look round  

3. come across  

4. walk through  

Question ID : 26433072734
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The major goal of renewable energy deployment in India is to drive economic (1)________,
improve energy security, increase access to electricity, and (2)_________ climate change.
Sustainable development is attainable via the use of sustainable energy and by giving
residents (3)________to inexpensive, dependable, sustainable, and contemporary energy.
Strong government backing and an increasingly favourable economic scenario have
propelled India to the (4)________ of the world's most promising renewable energy sectors.
The government has devised regulations, initiatives, and a welcoming atmosphere to
(5)_________international investment and rapidly expand the country's presence in the
renewable energy sector.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans 1. growth  

2. inflation

3. recession

4. surplus

Question ID : 26433061007
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The major goal of renewable energy deployment in India is to drive economic (1)________,
improve energy security, increase access to electricity, and (2)_________ climate change.
Sustainable development is attainable via the use of sustainable energy and by giving
residents (3)________to inexpensive, dependable, sustainable, and contemporary energy.
Strong government backing and an increasingly favourable economic scenario have
propelled India to the (4)________ of the world's most promising renewable energy sectors.
The government has devised regulations, initiatives, and a welcoming atmosphere to
(5)_________international investment and rapidly expand the country's presence in the
renewable energy sector.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans 1. exclude

2. exaggerate

3. reduce

4. increase  

Question ID : 26433061008
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The major goal of renewable energy deployment in India is to drive economic (1)________,
improve energy security, increase access to electricity, and (2)_________ climate change.
Sustainable development is attainable via the use of sustainable energy and by giving
residents (3)________to inexpensive, dependable, sustainable, and contemporary energy.
Strong government backing and an increasingly favourable economic scenario have
propelled India to the (4)________ of the world's most promising renewable energy sectors.
The government has devised regulations, initiatives, and a welcoming atmosphere to
(5)_________international investment and rapidly expand the country's presence in the
renewable energy sector.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans 1. excess

2. power

3. authority

4. access

Question ID : 26433061009
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The major goal of renewable energy deployment in India is to drive economic (1)________,
improve energy security, increase access to electricity, and (2)_________ climate change.
Sustainable development is attainable via the use of sustainable energy and by giving
residents (3)________to inexpensive, dependable, sustainable, and contemporary energy.
Strong government backing and an increasingly favourable economic scenario have
propelled India to the (4)________ of the world's most promising renewable energy sectors.
The government has devised regulations, initiatives, and a welcoming atmosphere to
(5)_________international investment and rapidly expand the country's presence in the
renewable energy sector.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans 1. background

2. forefront

3. forward

4. rear

Question ID : 26433061010
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The major goal of renewable energy deployment in India is to drive economic (1)________,
improve energy security, increase access to electricity, and (2)_________ climate change.
Sustainable development is attainable via the use of sustainable energy and by giving
residents (3)________to inexpensive, dependable, sustainable, and contemporary energy.
Strong government backing and an increasingly favourable economic scenario have
propelled India to the (4)________ of the world's most promising renewable energy sectors.
The government has devised regulations, initiatives, and a welcoming atmosphere to
(5)_________international investment and rapidly expand the country's presence in the
renewable energy sector.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans 1. attract

2. conceive

3. examine

4. borrow

Question ID : 26433061011
Status : Not Answered

Chosen Option : --

Q.1 आज राके श ने अपनी दुकान का श्री _________ किया।
रिक्त स्थान की पूर्ति उचित शब्द द्वारा कीजिए।

Ans 1. गणेश

2. राम

3. हरि

4. इति  

Question ID : 26433062614
Status : Answered

Chosen Option : 1

Q.2 ‘जो किए जाने योग्य हो’ इस वाक्यांश के  लिए सार्थक शब्द है -
Ans 1. करणीय

2. अनुकरणीय

3. अकरणीय

4. कथित

Question ID : 26433062339
Status : Answered

Chosen Option : 1

Section : Part-D-Hindi
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Q.3 निम्नलिखित में से कौन सा शब्द अनेकार्थी शब्द है?
Ans 1. चमेली

2. बेला

3. गुलाब

4. रातरानी

Question ID : 26433091321
Status : Answered

Chosen Option : 4

Q.4 निम्नलिखित वाक्य में रेखांकित शब्द के  विलोम शब्द का प्रयोग करके  रिक्त स्थान की पूर्ति कीजिए।
दुराचार से व्यक्ति का _________ नष्ट हो जाता है।

Ans 1. फल

2. सदाचार

3. विचार

4. यश

Question ID : 26433091344
Status : Answered

Chosen Option : 2

Q.5 निम्नलिखित वाक्यांश के  लिए एक सार्थक शब्द चुनें।
जो व्यक्ति अच्छे  आचरण वाला हो

Ans 1. सहकारी

2. सदाचारी

3. सहयोगी

4. समभाषी 

Question ID : 26433069985
Status : Answered

Chosen Option : 4

Q.6 वाक्यांशों  और उनके  लिए एक शब्द का निम्नलिखित में से कौन सा युग्म अशुद्ध है?
Ans 1. सात दिन का समूह-सप्ताह 

2. जो किसी से जीता न जा सके -अजेय 

3. लेने की इच्छा-लिप्सा  

4. नाप तौलकर खर्च करने वाला-मितभाषी 

Question ID : 26433086289
Status : Answered

Chosen Option : 4
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Q.7 निम्न में से कौन सा वाक्य संबोधन कारक का उदाहरण नहीं  है?
Ans 1. आलोक माँ के  लिए दवाई लाया।

2. अरे  भाई ! यहाँ आओ।

3. हे भगवान ! तू सबका भला कर।

4. अजी तुम उसे क्या मारोगे?

Question ID : 26433079226
Status : Answered

Chosen Option : 3

Q.8 मिश्र वाक्य - ‘लोग समझते हैं कि तुम मूर्ख हो।’ निम्नलिखित विकल्पों में से इस वाक्य के  लिए कौन सा
एक उचित सरल वाक्य होगा ?

Ans 1. तुम मूर्ख हो, लोग समझते हैं।

2. मूर्ख लोग समझते तुम्हें हैं।

3. लोग तुम्हें मूर्ख समझते हैं।

4. मूर्ख लोग समझते हैं।

Question ID : 26433062435
Status : Answered

Chosen Option : 3

Q.9 निम्नलिखित में से शुद्ध वाक्य है-
Ans 1. दीपक गाय चरत है।

2. दीपक गाय चारता है।

3. दीपक गाय चरता है।

4. दीपक गाय चराता है। 

Question ID : 26433066838
Status : Answered

Chosen Option : 4

Q.10 निम्नलिखित में से क्या ‘मान’ का अर्थ नहीं  है?
Ans 1. सम्मान

2. अभिमान

3. इज्जत

4. श्रेष्ठ

Question ID : 26433080941
Status : Answered

Chosen Option : 4
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Q.11 निम्नलिखित वाक्य में कौन सा शब्द क्रिया शब्द है?
मैंने आशा को मीनार दिखाई।

Ans 1. मीनार

2. दिखाई

3. मैंने

4. आशा

Question ID : 26433085039
Status : Answered

Chosen Option : 4

Q.12 निम्नलिखित वाक्य के  रिक्त स्थान में सबसे उपयुक्त मुहावरा क्या होगा?
‘इस पद पर पहुँचने से पहले उसे बहुत ______ हैं।'

Ans 1. पापड़ बेलने पड़े  

2. एक एक ग्यारह  

3. बाजी मारना

4. नौ-दो ग्यारह  

Question ID : 26433066724
Status : Answered

Chosen Option : 1

Q.13 दिए गए वाक्य के  रेखांकित शब्द को उचित विकल्प से परिवर्तित करें।
महासागर पर पुल बन जाने पर रावण को आश्चर्य हुआ।

Ans 1. संकोच

2. भ्रम

3. हर्ष

4. विस्मय

Question ID : 26433069917
Status : Answered

Chosen Option : 4

Q.14 गंगा का जल अत्यंत पावन है।
उपरोक्त वाक्य में रेखांकित शब्द के  उचित पर्यायवाची शब्द का चयन विकल्पों में से कीजिए।

Ans 1. देवनदी

2. विभूति

3. देवा

4. मधु

Question ID : 26433079727
Status : Answered

Chosen Option : 1
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Q.15 ‘रमेश की माँ को गम्भीर बिमारी है।’ वाक्य में अशुद्ध वर्तनी वाला शब्द है -
Ans 1. बिमारी

2. रमेश

3. माँ  

4. गम्भीर

Question ID : 26433069694
Status : Answered

Chosen Option : 4

Comprehension:

निम्नलिखित गद्यांश में कु छ शब्दों को हटा दिया गया है। दिए गए विकल्पों की सहायता से रिक्त स्थानों की पूर्ति
कीजिए। प्रत्येक संख्या के  लिए सबसे उपयुक्त विकल्प का चयन कीजिए।
​कविता बनाना 1. _______ नहीं  है। यह भगवान द्वारा मिला 2. ______ है। यह गुण अनेक लोगों में होता है, 3.
______उन्हें इसका बोध नहीं  होता। सही 4. ______ मिलने पर उनकी सोई हुई काव्य- प्रतिभा जाग उठती है।
अतः  अध्यापकों का 5. ______ बनता है कि वे बच्चों की काव्य-प्रतिभा के  विकास का उपाय करें। के वल यह
कहने पर कि बारिश पर कविता बनाओ विद्यार्थी कु छ भी नहीं  कर पाते।

SubQuestion No : 16
Q.16 रिक्त स्थान 1 की पूर्ति के  लिए सबसे उपयुक्त विकल्प का चयन करें।
Ans 1. कठिन

2. नामुमकिन

3. खेल

4. मुश्किल

Question ID : 264330110921
Status : Answered

Chosen Option : 3

Comprehension:

निम्नलिखित गद्यांश में कु छ शब्दों को हटा दिया गया है। दिए गए विकल्पों की सहायता से रिक्त स्थानों की पूर्ति
कीजिए। प्रत्येक संख्या के  लिए सबसे उपयुक्त विकल्प का चयन कीजिए।
​कविता बनाना 1. _______ नहीं  है। यह भगवान द्वारा मिला 2. ______ है। यह गुण अनेक लोगों में होता है, 3.
______उन्हें इसका बोध नहीं  होता। सही 4. ______ मिलने पर उनकी सोई हुई काव्य- प्रतिभा जाग उठती है।
अतः  अध्यापकों का 5. ______ बनता है कि वे बच्चों की काव्य-प्रतिभा के  विकास का उपाय करें। के वल यह
कहने पर कि बारिश पर कविता बनाओ विद्यार्थी कु छ भी नहीं  कर पाते।

SubQuestion No : 17
Q.17 रिक्त स्थान 2 की पूर्ति के  लिए सबसे उपयुक्त विकल्प का चयन करें।
Ans 1. बद्दु आ

2. अभिशाप

3. श्राप

4. वरदान

Question ID : 264330110922
Status : Answered

Chosen Option : 4
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Comprehension:

निम्नलिखित गद्यांश में कु छ शब्दों को हटा दिया गया है। दिए गए विकल्पों की सहायता से रिक्त स्थानों की पूर्ति
कीजिए। प्रत्येक संख्या के  लिए सबसे उपयुक्त विकल्प का चयन कीजिए।
​कविता बनाना 1. _______ नहीं  है। यह भगवान द्वारा मिला 2. ______ है। यह गुण अनेक लोगों में होता है, 3.
______उन्हें इसका बोध नहीं  होता। सही 4. ______ मिलने पर उनकी सोई हुई काव्य- प्रतिभा जाग उठती है।
अतः  अध्यापकों का 5. ______ बनता है कि वे बच्चों की काव्य-प्रतिभा के  विकास का उपाय करें। के वल यह
कहने पर कि बारिश पर कविता बनाओ विद्यार्थी कु छ भी नहीं  कर पाते।

SubQuestion No : 18
Q.18 रिक्त स्थान 3 की पूर्ति के  लिए सबसे उपयुक्त विकल्प का चयन करें।
Ans 1. और

2. परन्तु

3. द्वारा

4. की

Question ID : 264330110923
Status : Answered

Chosen Option : 2

Comprehension:

निम्नलिखित गद्यांश में कु छ शब्दों को हटा दिया गया है। दिए गए विकल्पों की सहायता से रिक्त स्थानों की पूर्ति
कीजिए। प्रत्येक संख्या के  लिए सबसे उपयुक्त विकल्प का चयन कीजिए।
​कविता बनाना 1. _______ नहीं  है। यह भगवान द्वारा मिला 2. ______ है। यह गुण अनेक लोगों में होता है, 3.
______उन्हें इसका बोध नहीं  होता। सही 4. ______ मिलने पर उनकी सोई हुई काव्य- प्रतिभा जाग उठती है।
अतः  अध्यापकों का 5. ______ बनता है कि वे बच्चों की काव्य-प्रतिभा के  विकास का उपाय करें। के वल यह
कहने पर कि बारिश पर कविता बनाओ विद्यार्थी कु छ भी नहीं  कर पाते।

SubQuestion No : 19
Q.19 रिक्त स्थान 4 की पूर्ति के  लिए सबसे उपयुक्त विकल्प का चयन करें।
Ans 1. अवसर

2. दुखी होने पर

3. अके ले होने पर

4. मौका न मिलने पर

Question ID : 264330110924
Status : Answered

Chosen Option : 1
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Comprehension:

निम्नलिखित गद्यांश में कु छ शब्दों को हटा दिया गया है। दिए गए विकल्पों की सहायता से रिक्त स्थानों की पूर्ति
कीजिए। प्रत्येक संख्या के  लिए सबसे उपयुक्त विकल्प का चयन कीजिए।
​कविता बनाना 1. _______ नहीं  है। यह भगवान द्वारा मिला 2. ______ है। यह गुण अनेक लोगों में होता है, 3.
______उन्हें इसका बोध नहीं  होता। सही 4. ______ मिलने पर उनकी सोई हुई काव्य- प्रतिभा जाग उठती है।
अतः  अध्यापकों का 5. ______ बनता है कि वे बच्चों की काव्य-प्रतिभा के  विकास का उपाय करें। के वल यह
कहने पर कि बारिश पर कविता बनाओ विद्यार्थी कु छ भी नहीं  कर पाते।

SubQuestion No : 20
Q.20 रिक्त स्थान 5 की पूर्ति के  लिए सबसे उपयुक्त विकल्प का चयन करें।
Ans 1. काम नहीं  है

2. अकर्तव्य

3. कर्त्तव्य

4. योग्यता

Question ID : 264330110925
Status : Answered

Chosen Option : 4
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